www.freetnbooks.com

No. of Printed Pages : 11 il 6 2 8 4 ? 7 9 8447

A uaﬁlmtﬂ“ﬁ“(m AlR| 2|0 |2 |s

Register Number
R AAR R
PART - II1

Gunmeflued / ECONOMICS

(5B wppd pmfle aifl / Tamil & English Version)

ST 6Ty : 3.00 wewil CHTW ] [ Qurss wHUCUaETEET : 90
Time Allowed : 3.00 Hours ] [ Maximum Marks : 90

SDaenrsst : (1) masg elamssesn sflwurs ufeurdl o drargr eraugeamear sflumTssé
Qamrerereyd. HFFILS D GmuimLnder, emms samsTeantliumreTiLLD
o Leanqursd Gsfeilssab.
(2 Beob ooy &smUY @wvulemar wLLECL aWsUsSDHELWD
2ig&5CsTY Heusn@Gd LwatuBFHs Couar(Bb. ULRSET sudmreusnE
Quenéled LweTLI(HSSaLD.

Instructions : (1)  Check the question paper for fairness of printing. If there is any lack of fairness,
inform the Hall Supervisor immediately. ;

(2)  Use Blue or Black ink to write and underline and pencil to draw diagrams.

U@ - 1/PART - 1
GoLY : () Semensg amssersEh el weallssaib. 20x1=20
(i) Qsr@ésuul(Herer Brem@ wrHn NoLseald Wsa b gHLeLw
ellenLanwp CoinbsB&5s GHULGLar e lamauyn Gsrgg
TPSAYLD.
Note : (i) Answer all the questions.

(i) Choose the most appropriate answer from the given four alternatives and write the
option code and the corresponding answer.
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1. ‘prpsefiear Qadeugengud srgemmsemann @fss ¢ elsrgenen' eremm mredlen

WALV o

(<) @enwendy @pmenen (e2,) <2p0a a9 TL ONTaYED

(@) uréd o amupGoudae () L tb cLblf

Author of “An Inquiry into the Nature and causes of Wealth of Nations” :
(@) Lionel Robbins (b) Alfred Marshall

(c) Paul A Samuclson (d) Adam Smith

2.  w&sar Qgnes LTHH erarug)
(=) wEseT Qyrans/GHAL flo ey
(<) fooshen sjarey/wésear Qgrens
() w&ser Qsrens/GeuenaeumiitiLy
() Posder seray/Couemeeumiiiy
Density of population =
(a) Total population/Land area of the region
(b) Land area/Total population
(c) Total population/ Employment
(d) Land area/Employment

3. by phsranB b “‘Srided b rar SepssiulLg ?
(1) prenagmd ghpsTavT(HS HLLLd
(=) Gremraug ghsran®s b
(&) gbsmd phgranbs S
() epenpreug) gHETETBS FLid
Which Five Year Plan was called as “Gadgil Yojana” ?
(a) Fourth Five Year Plan
(b) Second Five Year Plan
(c)  Fifth Five Year Plan
(d) Third Five Year Plan
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@ Uspssd T10 aigib 40 Lghssiisemer @ LSss eflpueanuneart eflpfmm, ereafld
SQUMmEG AD@LEGID Quorgs aimeuri

(<) T 300 (<2) X 100 (®) T 400 (rr) 200
A book seller sold 40 books at the price of 10 each. The total revenue of the seller is
@) T 300 (b) T 100 (c) T 400 d) T 200

&G Opommdlu LS Gl Cummer @evena.

(1) sFEs®T (<) SUQAULL (®) 2.ty (%) Coafi
There is no close substitute to ;
(a) Sugar (b) Match box (c) Salt (d) Tea

2 UILITET(HES TET G\GU@')LD‘@

(=1) Qemuid (=) eumy (®) aulig (/) &l

The reward for labour is

(a) Profit (b) Rent (c) Interest - (d) Wage

Epssranid oThs 698, Goeeu el SigliLemLWTss QsTarm(Hererg) ?
(=1) s @mflHleneos LweTum (B eG4

(=) eonpa s @mFBlaels Lweaum G el

(&) smeven a9 '

() <iefliy 698

The basis for the Law of Demand is related to :

(@) Law of Equi-marginal Utility _ |

(b) Law of Diminishing Marginal Utility

(c) Gossen’s Law

(d)' Law of Supply

cuengSlen Fwibleney ereuL
o -2 8l

(<) MC < MR (<4,) MC=MR (@) MR=Price (rr) MC>MR
Equilibrium condition of a firm is ’
(a) MC < MR (b) MC=MR () MR =Price (d) MC>MR
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9. . w&sar Aprensude 1961 - Y@TH
(<) HPlw Gfleflene <, &m(H

craniL(GE DS

(<) BETLWIDTSED 24600

(@) Quamb Gfclemer @ () WESET Qsrens Qaugliy 2peH

The year 1961 in population is known as the

(@) Year of Urbanisation (b) Year of Small Divide

(c) Year of Great Divide (d) Year of Population Explosion

10. @f SIoE BBsers 2 PusH QelusHE BED Qeeva :

(=1) @mbHlenavd Caeway (<) rob Qsee
() Qurszs Gswey (F) rprE CFeay
The cost incurred by producing one more unit of output is cost.
(a) marginal (b) variable
(@ total _ d) fixed
11. Spssramueupmer ergl Hosder Hpliduedy Siwe ?
(<2f) ueeuasILI{H LD (<2) G @efliy
(@) Qupensulien CamenL (F) QUG ST LF)
Which of the following is not a characteristic of land ?
(a) Heterogeneous (b) Its limited supply
(c) Gift of Nature (d) Itis mobile
12. D=150-50P erafler gmuiiey 2 (GLD.
(1) 5 (=) -5 (&) -50 (/) 50
If D=150-50P, then the slope is
B 5 ®) -5 ( -5 @ 50
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Comaub@ SIHHLNS Caumaudd rHU@WL wisafler flenaanto :
(1) ppGauee

(=) Gauemaudlenento

(@) swCGaema

(m) wepws Caimauiamio

How do you term people employed in excess of the requirements ?
(a) Full employment

(b) Unemployment

() Self-employment

(d) Under employment or Disguised unemployment

Epsargnbd crauppred Ceamen siflafléEn ?

(=) auly eSs sfsfiiugred () aufl siflsfluugre

(@) wéser Osres Gopasre () fs wraflub auPRIGaSTD
Increase in demand is caused by :

(a) Increase in interest rate (b) Increase in tax

(c) Decline in population (d) Higher Subsidy

Qurgieuns erbsé Camlur® paTaiud QuTmETTETTSmS 2 drarL &l jararg) ?

(21) Caumaaimitiyg Cariur® (<) ellwas GCarur@®

() aueaflesd Camur® () eugporensd Gamumr(® -
Which theory is generally included under Micro economics ?

(@) Employment Theory (b) Price Theory

(c¢) Trade Theory (d) Income Theory

uar_higear Hmib ueflsdr eufledliglliy (GST) wep QpSHlwurelld HeLponss
aupg @0

(1) 2018 (<4,) 2016 (@) 2019 (r/F) 2017
In India GST system came into effect in :
(@) 2018 (b) 2016 (c) 2019 (d) 2017
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17.

1K,

19.

20,

‘:ﬂ\é«tnmummﬂ”m eTha euena Lewmmy ey makGant aafleid N'J‘m‘-ﬁt"@ﬂm"&&‘h

(o) anpmifienbuineth Guini iy («23) Bepa Guriin
(B) HAeaGenrt anbmfemn (m) apppiflenn

Which of the following involves maximum exploftation of consumers 7
(8)  Monopolistic Competition (1)  Perfect Competition
(€)  Oligopoly () Monopoly

Gureleunyib @aenrd Ganampdpa

() eiiiig e gunt Qe Qunmsdr

(«2,) Bna@Endl Qurmisd

(@) wafigen emaunsdlu smelladr, snpamsd
(m) Reupper argapfdeama

Quasi<rent arises in :

(a) Home-made items

(b) Imported items
() Man-made appliances

(d) None of these

Cganans EruleCanler geoaaul_tb

(24) wgieny (=) Héé

() GCamubyggni (/) Qsenenan
The Headquarters of Southern Railway is at

(a) Madurai (b)  Tiruchirapalli
(c) Coimbatore (d) Chennai

Qerenasui® eranig __ erenugan gemdip Gslus'nurn_rr@m,
(=) sapg sweal (21,) Cagur® (8) cwasti® (FF) seenau
Integration is the reverse process of _

(a) Amalgamation (b) Difference (¢)  Differentiation (d)  Mixing
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LGS - 11/ PART - 11

GO0y : sremauCugnid eup NamssEnsE Mawallssan. e eram 30 -&@
sLLmuwns e wallEsa)b. 7x2=14

Note: Answer any seven questions. Question No. 30 is compulsory.
21.  LIGHTL_TRIGET ETEDTE GTere ?

What are Goods ?

22, &Suen QUMHETSET 6TeneU ? eneu e DjeueUTm &L Sleamer ?

What are Giffen goods ? Why is it called so ?

23. Qseenel cueNTWIMIGSHGLD.

Define Cost.

24. eNpuenand CFee6| eTEIMTE GTeata ?

What is Selling Cost ?

25. Bienw af@uusSer Qummer wing ?

What is the meaning of Liquidity Preference ?

26. &0 2 HUSHE QFays CHTH eTampm eramar ?

What is Iso-cost line ?

27. 2 enpll — UeTWNI&EEELD.

Define Labour.

28. wrPTF QFWE6Y GTEIMIE) Gresien ?

What do you mean by Fixed Cost ?
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29,  Saulen UENEHSHET WIMTEn6U ?

What are the kinds of Wages ?

30. o@flser erapred erevet ?

What is meant by Matrices ?

U@ - 111/ PART - 111

GOy : aemauCuean g NamssErsE eloLwafléaaw. Qe erewr 40 -&&

sU_Lmuwns elenwell&sayld. 7x3 21

Note : Answer any seven questions. Question No. 40 is compulsory.

31. uerflseflen uCeaum QuidLsET Wreme ?

What are the different features of Services ?

32. @méhme aurmeumi — Sny GHILLY euers.

Write a short note on Marginal Revenue.

33. srodl dsssdar Curgy @pHureled poLpopulid Q@Hs uOCaum He
e eLanwn wpepsar LuPMHS Cgafle LB sss.
-Elucidate the different types of Land Tenure system in Colonial India.

34. @eflf uges éih_.rm@ upd Sm GHLiy sr@gjas

Give a short note on Cold Stomge

35. @Li gmuEb @arus Ceriur® - Goluy auemr,;a;.

Write a note on Risk-bearing Theory of Profit.

www.freetnbooks.com | FREETNBOOKS



www.freetnbooks.com

9

2mdGowrr sreghd QpPHwus eselman’ Qurmlsd opuss @eppss e ?

The production Handicrafts declined in India in British Period, Why ?

37.  eaps Gaueeulenaninenu bé@apparen anflapepmamar anmis.

State the remedial measures for Rural Unemployment.

38. eLaped gepls sBlppriyea Qauddpmen oflarses.
; Describe the performance of Tamil Nadu in Health.

Y =5x4 eréip &MYSEE x=10 ereib Gung miley ereen ?
What is the slope of the function Y =5x* when x=10 ?

e anplifer ApliGwueyser wreneu ?

What are the characteristics of Labour ?

U@ - IV/PART - IV

GOLY : Siemengg eamésEpsEh o wallssab. 7x5=35
Note : Answer all the questions.

41. (=) Qurmeflwelen gemenwenwin|d, cTvamaamwwb elleuflssaid.
3|60V F)

(=) Qur@allwed gaopuld saaue Ggmfld mIukised aaiaury LWETUHSSI-
u@&lenpen ?

(a) Elaborate on the nature and scope of Economics.
OR

(b) How are the ideas of Information and Communication technology used in Economics ?

[ $liys / Turn over

www.freetnbooks.com | FREETNBOOKS



www.freetnbooks.com

10

42. (=) Goenou ad) pmib et eflfl eNevd@amamer efeuflssan.

SV G|
(<) feopeys Guriiguiledr eflemaun o Hugh emabd ereuaurm Srorefss-
u®BEpg ?
(@)  Explain the Law of Demand and its exceptions.
OR

()  How price and output are determined under Perfect Competition ?

43. (&) g ey ellenara ellflenw e gryamsgiLen efleré@s.
S0V

(<) phofeowle elomayb 2pusd siarab aaeary SivralssiuBans
eraueng eNens(Gs.
(@) Elucidate the Laws of Returns to Scale. Illustrate.
OR

(b) Tlustrate price and output determination under Monopoly.

44. (=) @vdlureiler grsTam(hd HLmiseten Q&msbu&@asmerr eSaufi&sayid.
YNV
(=) 2a178 QUITHETTHTTE SESOSHNET B TTUIS,
(a) Describe the performance of Five YearlPlans in India.
OR

(b) Discuss the problems of Rural Economy.

45. (=) m&TGeuni eré810 H(MHSMS uTULSSIL 61 elleTdGs.
3|06V
(<) Qevayd smsgissar gGoaib ghdlaean alleuflssab.
(a) Explain the Theory of Consumer’s Surplus with diagram.
OR

(b) Explain any five Cost Concepts.
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(=) Sanflen aulind Camtum el efeufl.
DIV G|
(<) Qummermgmy waGanpp smegisefle meuamirered Crepeilen Lkiens Cleuafls

Q& e,

(@)  Explain the Keynesian Theory of Interest.
OR

(b)  Bring out Jawaharlal Nehru's contribution to the idea of Economic Development.

(=) fpuiyd Qur@erTsry e oo risaf 6 CBré&EmEMmeT|D, LITL&ETW|LD
clleTd 5.
3I6VEVG)
() wéser Agrensuien grib sring HpliLsmer aleufésab.
(@) Explain the objectives and characteristics of Special Economic Zones (SEZs).

OR
(b) Describe the qualitative aspects of Population.
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